MAT 011, Exam #1, Fall 2015

Instructions: Show all w
exact answers (fractions
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Translate each English statement into an algebraic expression.
a. Two-thirds of a number increased by eleven.
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b. Six times the difference of a number and five.
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ork. Answers without work will be worth only one point per problem. Give
) unless specifically asked to round. Complete all parts of each problem.
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5. Solve each problem for the variable. Clearly write the solution for the variable.
a. =2(x+1)+3x=14
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6. A 48-foot piece
longer than the
length of the firs
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f cable is to be cut into three pieces so that; the second piece is five times
first piece, and the third piece is six times Iopger than the first piece. If x is the
t piece, how long is each piece?
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8. An architect des
If 260 feet of fer

igns a rectangular flower garden such that tYne width is exactly 2/3 of the length.
icing is to be used to enclose the garden, fin;d the dimensions. (6 pts)
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alary if, after a 4% raise, the current salary |§ $44,200. (6 pts)
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q part of her $25,000 bonus at 8% annual sirﬁple interest, and the rest at 9%

f her total yearly interest from both was SZ]@S, find the amount at each rate.
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11. Solve. Draw each solution on a number line, and write the solution in interval notation. (7 pts ea.)
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Bonus: Solve the equation 6x + e 3 2 (7 pts)
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